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 UI ���_�����DK�$`�R = 6400 km ���

�����A%� Da���*K��3�>�(S) �b,�,�� m = 200 kg ��c��'���0�%�_����.7!�d�e�+������#�h = 1600 km ��EMDC�W����

�����P��N��	��LYf���7��K�U��D,Q�0�%3�_���	��*� (S) ��

���)�������%�g,�)���
	h�Q��*�	��0�%�_�����E��D'�?	���7�	���Jh ,  R , G , m , Mi�!�j�M �_����
�,��GkS����

������L���l�h�N)�_����0�%�LY���7K��*�	��U�D>�G=l��1�-3�

�����������)�_����m���*�	��n�/�
�4����
�Q1�f���7�	��&o�A%� Da ( P = m.g ) ������
�Q1�f����p�����%���3)
�4J���

)����g��c��'�h��0�%�h ����
	h�QJh ,  R , G , M l�

L���g0  ��
	h�Q�_����6DC�0�%�J  R , G , M �l���

q�8Q�
K��	��r, ,C����g  ,  g0���� �

+����
*�K�g2!�g �]�����1���7�Y-��c��'�h��0�%�g0 = 9.80 N / kg ���

��P����3)�
�Q�2	��re�, 	��0�%��+�*,%�J

)����B2f��G�^(S) m��0�%���7�Y-��c��'��
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